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What is the value of o (a0 # 0) for which

x% — 5x + o and x2 — 7x + 20 have a common

factor ?
(a) 6
(b) 4
(e) 3
(d 2

How many numbers from 1 to 1000 are
divisible by 2, 3,4 and 5 ?

(a) 16
(b) 17
(¢) 32

(d) None of the above

What are the factors of x® + 4x% - 11x—30?
(a) (x-2),(x+3)and (x+5)
(b) x+2),x+3)and(x-5)
(¢) (x+2),(x—3)and (x+5)
d +2),x-3)and (x-5)
If x =

111...1 (20 digits), y = 333...3

(10 digits) and z = 222 ... 2 (10 digits), then

2
what is = _zy equal to ?
1
(a) E
(b) 1
() 2
(d 3

8.

What is the positive value of m for which the
roots of the equation 12x2 + mx + 5 = 0 are in
the ratio3:27?

(a) 5410

510

TS

() —

d —

Let f(x) and g(x) be two polynomials (with real
and 4
respectively. What is the degree of f(x)g(x) ?

coefficients) having degrees 3

(a) 12
b)) 7
(e) 4
(d 3

If 5x3 + 5x% — 6x + 9 is divided by (x + 3),

then the remainder is

(a) 135
(b) —-135
() 63
(d -63

The product of two non-zero expressions is
(x + y + z) p°. If their HCF is p? then their
LCM is

(a) E+y+2)

(b) (x+y+2)p?
() E+y+z)p°
(d) E+y+2)p




1. « (a#0) % 98 WA @ 8, Es fow
x2 = 5x + 0 3 x2 - Tx + 20 F1 Th HE UGS
B B ?
(a) 6
(b) 4
() 3
(d 2
2. 1% 1000 ds foraft w@amd 2, 3, 4 3N 5 |
farsa 2 2
(a) 16
(b) 17
() 32
(d) 39U # ¥ B3 &
3. x3+4x2—11x—30a’»'ﬂ“17-|'@'3m%?-
(a) (x-2),(x+3)3AN(x+5)
(b)  (x+2), (x +3) 3 (x-5)
(€ (x+2),(x—3)3M(x+5)
d) (x+2),(x—23) 3 (x—5)
4. IR x=111...1 (20 3H),
y =333 ...3 (10 31%) 31
z =222...2 (10 31%) B, @ x =y’ {ET:ED
T 3 ? ’
@ 7
(b) 1
(0 2
(d 3
STS-M-TPT

(3-A)

m 1 98 YATHS HH F1 7, foraeh forg wfieon
12x2 +mx +5=0%% YT 3: 27 AU H § ?

(a) 5410

5410

(b) 12

() —

d —

aH AT fx) 3 g) A WgIE (ATEdfash
TUTTRi & T1Y) &, foreht feuft s 3ot 48 |
fx)g(x) I feaft == 2 2

(a) 12
by 7
(c) 4
(d 3

gfe b5x3 + 5x2 — 6x + 9 W (x + 3) W fawfora
fore 9 8, @ Ywd ®T R 2

(a) 135
(b) —-135
(e) 63
(d -63

Tl YA SHSh] BT OEBA (x +y + 2z) p° § |
gfe 371 HgW @uEas (HCE), p? 8, a1 391
A FHIER (LCM) 31 & ?

(a) G+y+2)

(b) (x+y+2)p?
() (x+y+2z)p°
d E+y+2)p




9. If the points P and Q represent the real|12.
numbers 0-83 and 0-62 on the number line,
then the distance between P and Q is

21

(a) %
19

b S
(b) 50
|
(C) ‘m

13'

56

d el
(d) 90

10. Sudhir purchased a chair with three
consecutive discounts of 20%, 12:5% and 5%.
The actual deduction will be
(a) 335%

(b) 30% 14,
(e) 32%
(d) 35%

11. A fruit seller has a certain number of mangoes
of which 5% are rotten. He sells 75% of the
remainder and he is left with 95 mangoes.
How many mangoes did he have originally ? 15
(a) 500
(b) 450
() 400
(d) 350

STS-M-TPT (4—-A)

If a train crosses a km-stone in 12 seconds,
how long will it take to cross 91 km-stones
completely if its speed is 60 km/hr ?

(a) 1hr 30 min
(b) 1hr 30 min 12 sec
(c) 1 hr 51 min

(d) 1hr1min 3 sec

In a 100 m race, A runs at 6 km/hr. If A gives
B a start of 8 m and still beats him by
9 seconds, what is the speed of B ?

(a) 4'6 km/hr
(b)  4-8 km/hr
(¢) 52 km/hr
(d) 54 km/hr

The quotient of 8x%® — y® when divided by
2xy + 4x2 + y? is

(a) 2x+y
(b) =x+2y
() 2x-y
(d) 4x-y

If (x + 2) is a common factor of x2 + ax + b and

x% + bx + a, then the ratio a : b is equal to

(a) 1
(b) 2
() 3
(d) 4




10.

11.

STS-M-TPT

" (a)

afg fomg P ot Q wEw T W et gesdi
0-83 3 0-62 =i Frefig =@ &, @ P 3R Q
Fdafighang

21

90

19

(b) 90

21

(c) m

56

(d) 90

T AT Shelfaal 20%, 12-5% 3R 5% % 19,
gefit 3 s $ff Tl | Tl w arafas e

1 7l 2
(a) 335%
(b) 30%
(0 32%

d) 35%

U %ol TIshdl & UTE U Yo =3 § 3™
2, fomd & 5% 9 g 2 | 98 WY AW & 75%
a9 AT & 3R IUF IW 95 AW = AW B |

AN H 3Tk ITE foha 31 o 2
(a) 500
(b) 450
(c) 400

(d) 350

12. U Hid fafgd geer o9 w1 km fom@m 2, &1

13.

14.

15.

(5-A)

UR 0 § I T 3T 12 Uhs oAdl 8, 9 Uh
TH oo W 58 W 91 km for@n &, o @@ IR
w0 # o7 Toham wma @l Afe g Hr nfa
60 km /52T & ?

1 9T 30 foee
19T 30 fie 12 O

(a)
(b)

() 19 51 e

(d) 1*a'a 1 fire 3 O

100 m & TF AT A A, 6 km /5T & QT 2 |
Ife A, Bl 8 m 31 ¥ dred hi f@ma a1 2
T fhr ft B 9 Ohs @ BU 2a1 B, a1 B
T T8 ?

(a)
(b)
(c)
(d)

4-6 km/=eT
4-8 km/=eT
5-2 km/SeT

5-4 /ST

8x3—y37?ﬁ 2xy+4x2+y2@ﬁmﬁﬁaﬂefﬂ
HITHS &I B 2

(a) 2x+y
(b) x+2y
(¢) 2x-y
(d) 4x-y

?Tfa(x-i-Z), x2+ax+b M x2 +bx +a bl Teh
od UGS 7, T STII a : b fohHH S § 2
(a) 1
(b)y 2
() 3
d 4




16. Let ; 19. The factorsof x (x+2) (x+3) (x+5)—72 are
fix) =a,x" +2a, x2-1 a, D2 4 . 4+ a _,x+a, (a) x,(x+3),(x+4)and (x-6)
where a, a,, a,, ..., a_ are real numbers. (b) (x-1),(x+6)and (x2-2x —12)
If flx) is divided by (ax-b), then the (¢)  (x—1),(x +6) and (x2 + 5% + 12)
remainder is
d x+1),x-6)and x%-5x—-12)
b
o
a 20. If the HCF of polynomials
(b) f(_ h) - fix) = (x - 1) (x? + 3x + a) and
% gx)=x+2)x2+2x +b)is (x2 + x - 2),
(c) f[ 2, ] then what are the values of a and b
b respectively ?
@ f(_%J (a)] 2.2
(b) 2,-3
(¢ -1,-3
17. Consider the following numbers : (d) =2=1
1.~ 2222 21. a, b, ¢, d are non-zero integers such that (ab)
2 11664 divides (cd). If a and c are coprime, then which
3. 343343 one of the following is correct ?
4 220347 (a) aisafactorofc
Which of the above are not perfect squares ? (b) ais afactorofb
(a) 1,2and3 (c) aisafactorofd
(b) 1,2and4 (d) disafactorofa
2,3 and 4
) 22, If the roots of the equation
1 4
SRR ab—c)x® +b(c—a)x+c(a—b)=0are
equal, then which one of the following is
18. The product of the polynomials (x + 2), (x — 2), correct ?
(x® - 2x? + 4x — 8) and (x3 + 2x% + 4x + 8) is o L Y
(a) xP®-256 (b) bZ=ac
4 10y2
(b) (x*-16) ” 2 \ 1
) (x*+16) b c
@ x2-4) @ 11,1
b a ¢

STS-M-TPT ~ (6=A)



16.

= +fifse

f(x) = a, xn+alxn‘1 2

BAGEY TR o B XML
%, GIBT g, &4, g, ..o, ana'lﬁfﬁﬁﬁﬁ@ﬁ% |
afe fix) B (ax - b) ¥ fowfoa foem smo, ot

AYHSA T EA 2
fg]

.
f(-2)

(a)

(b)

19.

20.

X (x +2) (x +3) (x + 5) — 72 % UGS &

(a)
(b)
(c)
(d)

Ifg agqa flx) = (x - 1) % + 3x + a)

X, (x +3), (x + 4) 3 (x - 6)

(x — 1), (x + 6) 3N (x2 - 2x — 12)
(x — 1), (x + 6) 3T (x2 + 5x + 12)
(x + 1), (x — 6) 3M (x2 — 5x — 12)

3R

g(x) = (x + 2) (x2 + 2x + b) H HEAH THEAT
(HCF), (x2 + x — 2) 8, I a 3R b % HH U
wIE ?

(a) 2,2
(b)  2,-3
& —1,-8
() -2,-1

17.

18.

STS-M-TPT

Frefafaa genett w fomm il
iy 2998

2. 11664

3. 343343

4. 220347

o # A g ol et 777 2
(a) 1,233

(b) 1,23 4

(c) 2,33M4.

d 1,33R 4

TEIR (x + 2), (x - 2), (x3 - 2x? + 4x — 8) I
(x3 + 2x2 + 4x + 8) T UFG FT 3 ?

(a)
(b)

() (x*+16)?

x8 — 256

(x* - 16)2

(d) (x2-4)*

21.

22.

(7-A)

a, b, c, d 3 YBR &% YA QUi & T (ab),
(cd) o1 faeford st 8 | Afg a 3R ¢ @RS
7, @ Frafafea & @ s wd 2 2

(a) a,c OHES ?
(b) a,b o UHEE B
(¢) a,d 3 THEE B
(d) d,a UHES §

Ife grfieo

ab-c)x®+b(c—a)x+c(a—-bh)=0% qd
seR &, @ Freafofea 4 @ sH-ar ot 8 2

(a) 2b=a+c

(b) b%=ac
2 1 1

o e
1 1

(d) E“;-I-—




23. The non-zero solution of the equation
qIE R b-—x cC—X b—x?
= = = , where
bx c b cx
b#0,c#0 is
b? + ac
(a) ———
_bz +c2
b2 —ac
R~ e
b2 —ac
() ———
b2 + ¢2
b? +ac
24. Ifkis an integer, then
2% 4 T 14[1;2 a %J =0 has °
(a) Both integral roots
(b) At least one integral root
(c) Nointegral root
(d)  Both positive integral roots
25. How many numbers between 500 and 1000
are divisible by 13 ?
(a) 36
(b) 37
(c) 38
(d 39
26. To maintain 8 cows for 60 days, a milkman
has to spend ¥ 6,400. To maintain 5 cows for
n days, he has to spend ¥ 4,800. What is the
value of n ?
(a) 46 days
(b) 50 days
(c) 58 days
(d) 72days
STS-M-TPT

27.

28.

29'

30.

(8-A)

A student has to secure 40% of marks to pass
an examination. He gets only 45 marks and
fails by 5 marks. The maximum marks are

(a) 120
(b) 125
() 130
(d) 150

What is the value of u in the system of
equations 3 (2u + v) = 7uv, 3 (u + 3v) = 11luv ?

(a) O
1
(b) 7i
1
(c) E
d 1

Five years ago, Ram was three times as old as
Shyam. Four years from now, Ram will be
only twice as old as Shyam. What is the
present age of Ram ?

(a) 30 years
(b) 32 years
(c) 36 years
(d) 40 years

Ram buys 4 chairs and 9 stools for ¥ 1,340. If
he sells chairs at 10% profit and stools at 20%
profit, he earns a total profit of ¥ 188. How
much money did he have to pay for the

chairs ?

(a) ¥ 200
(b) ¥ 400
(e) ¥ 800
(d) ¥ 1,600




23.

24.

25.

26.

STS-M-TPT

rrefremroy a—x2 _ b-—x _ e b — x2
bx b ex

Cc
W&l b0, ¢ 08, P YA & FT 8 ?

() b2 + ac
b2 + ¢2
b2 — ac

b2 - c2

(b)

b2 —ac
b2 +c2

(c)

b2 +ac

b e

afg k T quites B, @
x2+7x—14(k2 o %] =0 H1/&

(a) QM A I &
(b) HH-B-FHH Teh A YUITh 2

(c) =g off et qurien e B
(d) <HI o 9 quifes &

500 3R 1000 % = feaft gwd, 13 -
s 8 2

(a) 36

(b) 37

(c) 38

(d 39

T GHATA I 8 MR T WA 60 foAi
W & AU T 6,400 @E HH Usd & | 5 TR
W WOLgEY o f 9w % fag, 3w
F 4800 @4 HHAUSIE | nHTHFA FATE ?
(a) 46 e

(b) 50 fea

(© 58T

@ 72t

27.

28.

29.

30.

Tk O Hl fordt giien = 9 = & 6T 404
3 U] A B | 3T had 45 3T UG- BId ¢
3 98 5 Ahl ¥ B B @l & | ghEm &

SAfreRaH 376 T & 2
(a) 120

(b) 125

(e) 130

(d 150

g ™

3(2u + v)="Tuv, 3(u+ 3v) = 11luv ﬁ, u <h
0 IR 2

(a) O
1
(b) 7
1
(C) E
d 1

uig oY Ugd, 9 h MY, TW hH Ay Hh
ot oft | o/ @ 9R o w1., TW A Y, W
1 7Y < ke g B | T T I
w18 ?

(a) 309§

(b) 329§

(c) 3699

d 4099

U9 T 1,340 H 4 AT 3R 9 WA @ligar &
afg a7 FEA A 10% T W R wHA ®
20% T 9T 994l 8, A I8 T 188 T Pl AT
Aar ¥ | SR F g/ Reeht ww T
off ?

(a) ¥ 200
(b) ¥ 400
() ¥ 800
(d) ¥ 1,600




31.

32,

33.

subjects ?
(a) O
(b) 20
(¢) 30
(d) 40
4. What is (x;y)(y—z)(z—x) g equalto ? |
x-y° +@y-2)°%+@z-x)
1
(a) e g
1
(b) 3
(e) 3
d -3
TS-M-TPT

(a) {x:x+65=5H}=d
(b)) {x:x+5=5}={0}
(¢ {x:x+5=5)=
(d) {x:x+5=5)={¢}

Which one of the following is a correct
statement ?

If ab + bc + ca =0, then what is the value of

a? b2 2 2
2 L Eile :
a“ —be b“ —ca c¢c“ —ab
(a) 3
b)) 0
(c) 1
d -1

In an examination, 35% students failed in
Hindi, 45% students failed in English and 20%
students failed in both the subjects. What is
the percentage of students passing in both the

35.

36.

37.

38.

39.

(10-A)

The value of Jl + ,/1 +',/1 +...

(a) Equalstol

(b) Lies between 0 and 1
(¢) Lies between 1 and 2
(d) Isgreater than 2

If log,, 6 = 0-7782 and log,, 8 = 0-9031, then
what is the value of log;, 8000 + log,, 600 ?

(a) 46813
(b) 55813
() 15813
d 66813

30 men can complete a job in 40 days.
However, after 24 days some men out of the
assigned 30 left the job. The remaining people
took another 40 days to complete the job. The
number of men who left the job is

(a) 24
(b) 18
(c) 12
(d 6

4 goats or 6 sheep can graze a field in 50 days.
2 goats and 3 sheep will graze it in

(a) 200 days
(b) 150 days
(¢) 100 days
(d) 50days

A tap can fill a tub in 10 hours. After opening
the tap for 5 hours it was found that a small
outlet at the bottom of the tub was open and

4+l o
water was leaking through it. It was then

immediately closed. It took 7 hours to fill the
tub after closing the outlet. What time will be
taken by the outlet to empty the full tub of
water ?

(a) 35 hours
(b) 25 hours
(¢) 20 hours
(d) 17 hours



31.

32.

33.

34.

STS-M-TPT

Frfefiad § & H-91 T T&l HUA 8 2
(a) {x:x+5=51=0¢
(b) Ix:x+5=5)=1{0)
(¢) E:xeb=5j=0

(d) (x:x+5=5)={}

Ife ab+he+ca=0 %,?ﬁ
2 " b2 x C2
b2 —ca 52—t

a
a2 —be
37

(a) 3
b 0
) 1
(d)

w1 U w

-1

wh wlen # 35% o = ° el ® Y, 45%
B AU H S 8 TC R 20% D AT fawTi
A % B MU | 3 fowdl § g B9 Al el
o) wfcrerddr <= 8 ?

(a) O

(b) 20
() 30
(d) 40

(x-y)(y—2)(z-x)
(x—y)3+(y—z)3 +(z —x)3

fortes ST B 7

1
(a) = E
1
(b) 9
(¢ 3

d -3

35

36.

37.

38.

39.

(A9 =AY

\/1+,/1+\/f &1 T

(a) 1% SUsT &

b) 03N 1Fd=H R

(c) 13MoF =2

d) 28918

afe log, 6 = 07782 3 log, 8 = 0-9031 &,
al log, , 8000 + log, ; 600 =T HF 1 R

(a) 46813

(b) 5-5813
(¢) 1-5813
(d) 6-6813

30 fth Uh M ! 40 7 § U =X ¥ohdl @ |
g 24 f&A1 & s1g 30 =REAT H T FB 7 3
w1 ! BT fom | IR S T AR 3 39 B
B W HW F A 40 T I forw | R o

o 9Tl Ul hl I T 8 ?

(a) 24
(b) 18
(¢) 12
d 6

4 SR YT 6 U, Th ©d ol 50 fedi d =R
gehdl 8 | 2 9T 3R 3 9 39 ©@d I fohar
et § = ot 2

(a) 200 f&

(b) 150

(¢) 100 fe

(d) 50fE

U T TRl e9 1 10 B H WU Hehal B | T
@IeH & 5 9 ¢ I8 9 T o6 2 Y 9l °
T Biel e gen gam o 3 e ¥ 9
@ @ o | 99 3 dob §e R e TR
frerm e G & 9E T B WA T 7 HS o |
gt 8 @ W g 2 i e < Aream @ el

0 T fora guy o 2
(a) 85%
(b) 25 %
(¢) 20%C
(@ 179



40.

41.

42,

STS-M-TPT

A boy went to his school at a speed of
12 km/hr and returned to his house at a speed
of 8 km/hr. If he has taken 50 minutes for the
whole journey, what was the total distance

walked ?

(a) 4km
(b) 8km
() 16km
(d) 20km

If 78 is divided into 3 parts which are

proportional to 1, %, %, then the middle part

is
(a)
(b) 13

(0 ?

(d)

There are 350 boys first three
standards. The ratio of the number of boys in

first and second standards is 2 : 3, while that

in the

of boys in second and third standards is 4 : 5.
What is the total number of boys in first and
third standards ?

(a)
(b)
() 242
(d)

302
280

230

43.

44,

45.

(12=A)

The difference between the compound interest
(compounded annually) and simple interest on
a sum of money deposited for 2 years at
5% per annum is ¥ 15. What is the sum of
money deposited ?

(a) ¥ 6,000
(b) ¥ 4,800
() ¥ 3,600
(d) 2,400

When prices rise by 12%, if the expenditure is
to be the same, what is the percentage of
consumption to be reduced ?

162%

(a) 3

(b) 10%%

(e) 16%%

5

(d) 10;%

A man rows down a river 18 km in 4 hours
with the stream and returns in 10 hours.
Consider the following statements :

7 18 The speed of the man against the stream
is 18 km/hr.

2. The speed of the man in still water is
3:15 km/hr.

. The speed of the stream is 1:35 km/hr. i

. 'Which of the above statements are correct ?

(a) 1and2only
(b) 2 and 3 only
(¢) 1and 3only
(d 1,2and3



40. TH ASH 12 km/Ee I IO F TAR AM
Tl T 3R 8 km/He I =T B TN HC ATTE
| afe @ Ew % fow 3| 50 fime fow, @
ag el fepai gt = 2
(a) 4km
(b) 8km
(¢) 16 km
(d) 20km

41. 3fe 78 + 3 fewa # fawla foRm S s
1,%,%%313%1?%,&%3@%@1
fraT 3 2
(a) %

(b) 13
@ 22

55
@ =

42. UgeA! I FemeT U $A 350 ASh & | Uga! IR
a0 HET %k WSHl I W@ H 2 : 3
I ®, Safh gl ot el wen # g
1 TETAT T AU 4: 57 | TEedt 3R A
HETTSAT & AGh! hl PeT TEAT Fehet & 2
(a) 302
(b) 280
(c) 242
(d 230

STS-M-TPT

43.

44.

45.

(13-A)

()

2 991 & foTu 5% <ht arfier et o smT <6l T8 UH
g W TEhdlg A (ATMeh €9 A FAIA)
ST ETHNOT oA o1 3T T 158 | ST &l T8
g fdt w2 2

(a) ¥ 6,000
(b) ¥ 4,800
(¢) ¥ 3,600
(d) < 2,400

& gedl 129 HI gig B 1, R Ik wE
& T @A &, o @od § feran wfaera s
T B 2

2

102%
7

(c) 16%%

5

(d) 105%

U =gfep forel 7S § 9 o Y 4 Wi W 18 km

dfer War g 3 10 wel #H 9wy I B |

Fr=fafaa et @ famm Hifsw

1. o ¥ faula =Rk # W 1-8 km IR
HT R

2. B8 §Y U # ATk I A 3-15 km Ffd
"R |

3. o <l =T 1-35 km T =21 2 |

39T H & S8 HYT el § 2

(a) hae 13N 2

(b) had 2 3R 3

(c) hael 131 3

@ 1,233




46. If a triangle has sides 5, 13 and 12 units and 0
is the acute angle of the triangle, then what is
the value of (sin 6 + cos 0) ?

5
(a) E
7
(b —
; 13
12
c ——
(c) 13
17
d =
) 13

47. If 0<x< %, then (sin x + cosec x) is
(a) >2
(b) <2
) =22
d =<2

: m?2 — n?2 T

48. If sin®= ——— and 0 <6 < —, then

m?2 +n2 2
what is the value of cos 6 ?
2mn
(a) ————
m? +n?2
2mn
b) ————
m?2 —n?
2 2
@ T
2mn
2 2
m° —n
d e M 0
Q) 2mn
STS-M-TPT

49.

50.

51.

(14-A)

If angle A of triangle ABC is 30° and the
circum-radius of the triangle is 10 c¢m, then
what is the length of side BC ? '

(a) b5cm

(b) 10cm

(¢0 5+4/3cm
(d) 103 cem

If A= sin 45° — sin 30 -
cos 45° + cos 60°

o 45° —tan 45 , then which one of the
cosec 45° + cot 45°

following is correct ?

(a) A=B
(b) A>B>0
(0 A<B
(d B<A<0

If 8 measured in radians is the angle between
the hour hand and the minute hand of a clock
when the time is 4 : 36 pm, then which one of

the following is correct ?

(a) ?<9<
b — << —
(b) <0< 5
(c)

(d -—=<06<—



46.

47,

48.

STS-M-TPT

 d)

afe e Brgs i ol 5, 13 3t 12 31 & ok
Gﬁﬂﬁﬁf:ﬁqﬁm%,?ﬁ(sin9+cose)wm
TR ?

5
(a) ﬁ

T
(b) 13

12
(c) ﬁ

17
(d) 13 50.
Qﬁ0<x<g%,ﬁ(sinx+cosecx)%
(a) >2
by <2
c) =22

£92

2 2
afe sino= 2 "2 _ 3R 0<6< = B, 7 cos 6|51
m?2 +n? 2

T HIF 41§ ?

2mn
e m?2 + n?

2mn
b
(b) —7_ 7
© m? +n?

2mn

2 2

m-—n
(d) o

(15-A)

49. IR BrYSt ABC %1 W0 A, 30° 8 3N Byw &

aRE i BIS9T 10 em B, W S BC i o3
R ?

(a) bS5ecm

() 10cm

(e) 5 \/5 cm

(d) 1043 cm

?‘rﬁ A = sin 45° — sin 30° aﬂ'{

" cos 45° + cos 60°

g S0i0_(andt 5 o frffew § ¥
cosec 45° + cot 45°

HH-Gr 9l B ?

(a) A=B

(b) A>B>0

(¢ A<B

(dd B<A<O0

gfe o, formesr wma Weam o 7, forelt wt & =2
I g3 R fime it g§ & 1= w1 For @ I
9 4 : 36 AWG 8, A F=fafad 7 4 s
e g ?

:?'—"rt<9<ﬂ

(a)

(b)

b
a

(c)

oA
IA
@
IA
|

g

(d)

r—~|-:|

|3
IA
fas}
IA

-

o)




52. Consider the following statements :

1. If 45° <6 <60°, then
sec? O + cosec® 0 = o? for some real
number o > 1.

2 If 0° < 6 < 45°, then M: x2 for

1-cos©
some real number x > 2.
3. If 0°< 8 <45° then
cos O sin 0
+ >
1—tan® 1—cot®

What is the number of true statements ?

(a) Zero

(b) One

(¢) Two

(d) Three

53. Let AB represent a building of height h metre
with A being its top, B being its bottom. Let

A’B’ represent a tower of height (h + x) metre

(x > 0) with A" being its top and B’ being its

bottom. Let BB’ = d metre. Let the angle of

elevation of A’ as seen from A be 45°,

Consider the following statements :

StatementI: h+x>d

Statement II : The angle of depression of B as

seen from A’ is less than 45°.

Which one of the following is correct in respect

of the above statements ?

(a) Both Statement I and Statement II are
true and Statement II is the correct
explanation of Statement I

(b) Both Statement I and Statement II are
true but Statement II is not the correct
explanation of Statement I

(c) Statement I is true but Statement II is
false

(d) Statement I is false but Statement II is
true

STS-M-TPT

54.

56.

(16-A)

A man, standing at a point X on the bank XY
of a river that cannot be crossed, observes a
tower to be N o° E on the opposite parallel
bank. He then walks 200 m along the bank to
the point Y towards East, and finds the tower
to be N °W. From these observations, the
breadth of the river will be

(Given that tan o° = 2 and tan B° = 0-5)

(a) 60m
(b) 70m
() 80m
(d 90m

sin 1°

The wvalue of

where 1¢ represents
sin 1°¢

1 radian is

(a) Equaltol

(b) Lessthan1

(¢)  Greater than 1 but less than 2

(d) Greater than 2

The diameters of two given circles are in the
ratio 12 : 5 and the sum of their areas is equal
to the area of a circle of diameter 65 cm. What

are their radii ?

(a) 12 cmand 5 cm
(b) 24 cm and 10 cm
(¢) 60 cm and 25 cm

(d) 30cmand12-5cm



52.

53.

STS-M-TPT

Freafafaa woat v famm Hifse .
1. A 45°<0<60° B,

sec2 0 + cosec? 0 = o2 Torelt arEafass gE

a>1%ﬁ-’m% |
0. A0 <o<dsod, dt L1050 _ 2 oh
1-cos O
e T&AT x > 2 fu 2 |

3. I 0°<0<45°%, al

cos O 5 sin 0
1-tan© 1-cotH

HEl YT sh! HEAT 4T & 2
(a) I[HA
(b) Teh
(¢ @
d o=

528 |

M ifSu AB, h Hiet F=E H T ARG B
frefia st 8 S8l A 35 IiY R B 3G
T & | OF ©ifvm AR, (h+x) HX
(W&t x > 0) F=TE hI T HAR H Frefa wan
2 W8l A’ 3G I 3R B’ 3HT a & | HE
+fifSe BB’ = d et 8 | 9 <fifSie A & <@r
A’ Rl FAIT HIT 45° 7 |

frferiad et W femm ShifSe .
FI7I : h+x>d

FYT I A’Q @I AT B 1 GTHT HIvT 45° 9
E il

34 HoET 6 W H Ffafed § ¥ s

E R 2

() I I 3 e II gAT T& 8, 3N
A 11, H 1 hl Tl e 8

Fod [ AR %o II qH1 E& &, W
e 11, A I 1 ) = e R

() YT ITE 8, T e 11 Td &
(d) H¥F I7TAd 7, T HeH 1T 3

(b)

54, T 441, @ 9 T fepan s oweRdr, % XY

55.

56.

(17-A)

o w, X fog W @er gen wh =tk @R
et TR R W Th HMR & No° E &
FER ¢@al 7 | fht 98 =afh feprt & @i g
feam & 3t v forg % 200 m @@ 2, 3R
Wt N pe W ot feufa o arar 8 | 59 Jaron
% STEN, T i =rers w41 B 2

(feam 71 8 6 tan o° = 2 31K tan p° = 0-5 8)

(a) 60m

(b) 70m

(¢c) 80m

(d) 90m

S0 1° o o e &, W 18 1 W W
sin 1°

forefa st 8 2

(a) 17 SR

(b) 18 %A

(¢) 1% 3ifers, fhrg 29 1
(d) 2% 3fees

feu Mg &1 gt % @ 12 : 5% U@ o § 3
3ok SThA] I ANTHA, 65 cm AE a1 Teh
I & ST oh SUSK @ | Ih! Frsamd o § 2
(a)
(b)
(¢) 60 cm 3T 25 cm

12cm35ﬁ'(5cm

24 c¢m 37 10 cm

(d) 30 cm 3R 12:5 em




57. A hollow cube is formed by joining six
identical squares. A rectangular cello tape of
length 4 em and breadth 0:5 em is used for
joining each pair of edges. What is the total
area of cello tape used ?

(a) 12 square cm
(b) 24 square cm
(¢) 36 square cm
(d) 48 square cm

58. Two straight lines AB and AC include an
angle. A circle is drawn in this angle which
touches both these lines. One more circle is
drawn which touches both these lines as well
as the previous circle. If the area of the bigger
circle is 9 times the area of the smaller circle,
then what must be the angle A ?

(a) 45°
(b) 60°
(c) 75°
(d) 90°

59. An isosceles triangle is drawn outside on one
of the sides of a square as base in such a way
that the perimeter of the complete figure is
% times the perimeter of the original square.
What is the ratio of area of the triangle to the
area of the original square ?
ta) 1ad
(b) 23
(@) . 152
@) - 3

60. What is the area of the triangle whose sides
are 51 cm, 37 cm and 20 cm ?

(a) 300 square cm

(b) 305 square cm

(c) 306 square cm

(d) 307 square cm
STS-M-TPT

(18-A)

61.

62.

63.

Segment QR of length r is a tangent at Q to a
circle of radius r with centre at P. What is the
area of the part of the triangle PQR, which is
outside the circular region ?

(a) r;r_62

(b) f—; - %2
(c) % b= ﬂf—;
- Bt

In a triangle ABC, AD is perpendicular on BC.
If £ BAC = 90°% AB= ¢, BC =.a, CA=b and
AD = p, then which one of the following is

correct ?

(a) p=abc

(b) p?=he

(¢) p= bé
a

(d) p= b
c

AB and CD are parallel chords of a circle 3 em
apart. If AB = 4 cm, CD = 10 cm, then what is
the radius of the circle ?

(@) 7em
(b)  V19cem
(© 29 cm
(d 14cm



57. ©: GAGH 9 Sl ISR Ush @iEd B9 ST 61.
™ 8 | FRR % U 3 # Wied & fore
4 cm TS 3R 0-5 cm SR I Th AATHR
Al 29 1 =@ fopar e ? | v | ffu
el 3 HT FA GABA fehaT 8 ?
(a) 121 cm
(b) 249 cm
(c) 36 1 cm
d) 48T cm

58. Tl BT W@ AB 3 AC T Ul s § | 39
HI H Tk g SR AT 8 S §9 QT s
I 9% HAT 3 | TH g AR S @3 S
3 Ml @l % wy-|e, U arel o9 ol oft
oot T 3 | Al W2 atet 99 @ &%, B
A I & & HT 9 AT 8, Al HI A I HE
TR ? 62
(a) 45°
(b) 60°
(¢) 176°
(d) 90°

59. foelt @ &t yaedi d ¥ fopet weh @l IMuR
TR, T h TR Th THigEg B W s
s St @ fo dqof srepfa s g wwfes
aﬁ%qﬁmm%ﬂm%lﬁﬂa%aﬁww,
ITfieh arf & &R ¥ STIUTT R 8 ?
(a)y 1:1
() 2:8
) 1:2 63.
d 1:3

60. 3 By &1 fmwd fhaw 2, fmh swomd
51cm,37cm3ﬁ'{20cm§?
(a) 300 97 cm
(b) 305 cm
(¢) 306 em
(d 3079 em

STS-M-TPT (19-A)

r 9IS 6 TH W@Es QR, G or 3k
Hafeg P I TH g9 % fog Q W waeff ® |
e PQR & 30 & @1 89%a w0 8, S
AR & & e R ?

(a) nlr—s

(b) % - 382-
(c) ; = T—;
(d) % = %2

% WS ABC ®, AD, BC W @& ? | Ife
Z BAC = 90°, AB = ¢, BC = a, CA = b 3R
AD =p 8, @t F=ifaifiaa & @ - ol 8 2

(a) p=abc

(b) pZ=he

AB 3R CD, T g1 =l guick Sfiard € St 3 em
G RE |4 AB=4cm,CD=10cm g,
a1 B wn g 2

(a) T7cm

V19 cm
V29 cm

14 cm

(b)

(c)

(d)




64.

65.

66.

STS-M-TPT

(b)

The diagonals of a cyclic quadrilateral ABCD

intersect at P and the area of the triangle APB

is 24 square cm. If AB = 8 cm and CD = 5 cm,
then what is the area of the triangle CPD ?

(a)

24 square cm

(b)

15 square cm

(c)

12-5 square cm

(d) 9-375 square cm

In an equilateral triangle ABC, BD is drawn

perpendicular to AC. What is BD? equal to ?
(a) AD?
(b) 2AD?
() 3AD?
(d) 4AD?

The distance between the centres of two
circles having radii 9 cm and 4 cm is 13 cm.
What is the length of the direct common

tangent of these circles ?

(a) 12cm
11 cm
(e) 10 em

(d 95cm

67.

68.

69.

(20—A)

If PL, QM and RN are the altitudes of triangle

PQR whose orthocentre is O, then Q is the

orthocentre of the triangle

(a) OPQ
(b) OQR
(¢) © PLR
(d OPR

In triangle ABC, £C = 90° and CD is the
perpendicular from C to AB.
If (CD)2 = (BC)2 + (CA)2, then which one of

the following is correct ?

(a0 BC.CD=AB.CA

(b) AB.BC=CD.CA

() CAZ4+CB2=2(AD?+CD?

(d AB.CD=BC.CA

If a point O in the interior of a rectangle
ABCD is joined with each of the vertices A, B,

C and D, then OB? + OD? will be equal to
(a) 20C2+ 0A2
(b) OC2-0AZ2
() 0OC?+0A2

(d 0C?+20A2




64. TH wshig 9gys ABCD & fasul P W Wfi=ede

65.

66.

STS-M-TPT

1 & 3 BT APB T 896 24 T cm B |
Ife AB = 8 cm 3R CD = 5 cm &, @l 1 CPD
T BTHA T § 2

(a) 24 I em

() 159 em

(¢) 125 em

(d) 93759 em

ww gwarg Y9 ABC #, BD, AC W weq
@it wft & | BD? fopmeh s R ?

(a) AD?

(b) 2AD?

(¢) 3AD?

(d) 4AD?

90m3ﬂ14cm?ﬁﬁw3ﬁa'lﬁaﬂ?ﬁ%ﬁ
% da H gl 13cm B | T FEl hl WIS
eI @1 Y T FAT 8 2

(a)

12 cm

(b)

11 cm

(c) 10 cm

(d 95cm

(21-A)

68.

69.

67. 9% PL, QM 3T RN, 38 BYsr PQR & dfides

2 foeen e g 0 %, @1 Q, 5 e &1 oiw
Eo i

(a) OPQ

(b) OQR

() PLR

(d) OPR

s ABC #, £ C = 90° 3R CD, C & AB W
W 1Ak cDy? = B2 + (cAZE, @
freafefaa & @ SR adt 2 2

(a) BC.CD=AB.CA

(b) AB.BC=CD.CA

(¢) CAZ2+CB2=2(AD? +CD?

(d AB.CD=BC.CA

Ife w I ABCD & foreft o fog O &
¥ fogewt A, B, ¢ 3R D & Sigt 9mm 7, @

OB? + OD? fopges s&I g 2
(a) 20C?+ 0A?
(b) OC?-0A?
(¢ OC2+ 0A?

(d) OC?+20A2



70. A cylinder of height 2x is circumscribed by a
sphere of radius 2x such that the circular ends
of the cylinder are two small circles on the
sphere. What is the ratio of the curved surface
area of the cylinder to the surface area of the
sphere ?

(a) 3:4
(b) 3:3
(0 38:2
d@ J3:1

71. A cylindrical vessel 60 cm in diameter is

partially filled with water. A sphere 30 c¢m in
diameter is gently dropped into the vessel and
is completely immersed. To what further
height will the water in the cylinder rise ?
(a) 20cm
(b) 15cm
(¢) 10cm
(d 5cm

72. The vertical angle of a right circular cone is %
and the slant height is ¥2 r em. What is the
volume of the cone in cubic em ?

(a) mr’
(b) 9mrd
3
nr
c —
(e) 3
(d) 3mrd
STS-M-TPT

73.

74.

75.

(22'=&)

The radii of the frustum of a right circular
cone are in the ratio 2 : 1. What is the ratio of
the volume of the frustum of the cone to that

of the whole cone ?
(a) 1:8
(b) 1:4
(0 3:4
d 7:8

From a solid cylinder whose height is 8 cm
and of base radius 6 cm, a conical cavity of
height 8 cm and of base radius 6 cm is formed
by hollowing out. What is the inner surface

area of the cavity ?
(a)
(b)
(c)
(d)

61 square cm
87 square cm
107 square cm

607 square cm

A tent has been constructed which is in the
form of a right circular cylinder surmounted
by a right circular cone whose axis coincides
with the axis of the cylinder. If the radius of
the base of the cylinder is 50 m, the height of
the cylinder is 10 m and the total height of the
tent is 15 m, then what is the capacity of the

tent in cubic metres ?

(a) 37500m

87500m

(b) 3

265007
3

(c)

(d) 25000m



73.

74.

70. 2x°ﬁ1§am@ém,2xﬁwmé@fﬁ@f
¥ 3@ yehr ufurd ? fF dom % g BR, Mo
WG @Y g9 & | S % 936 TSI &% H
el % Yol &A% | ST o1 R 2
(a) J3:4
b)) J3:3
(c) V3:2
@ 3:1

71. 60 cm SIE (T Ush SRR od4 TR &Y
§ I & 9T AT R | 30 em A 9Tt Th e
1 o § a1 § e Srar @ iR ag @ @ 9
3F W7 B | SRR & | qe foha S 38
ST ?

(a) 20cm
(b) 15cm
(c) 10 cm
(d 5em

72. U SR ¥ FOAE 00 C R S gkl
ﬁl@ﬁﬁﬁrcm%l?@ﬂﬂ@ﬁﬂ?ﬂ?cm
# fordan 2 2
(a) mrd
(b) 9nrd

TCI'3

(c) —3‘—

(d) 3nrd
STS-M-TPT

75.

(23-A)

Th A-gAN FH h oAb (EeH) h BHESEE
2:1% U U 8 | W & oa% & =
HT, R IF o ATFAT h AT I FohaT 8 2

(a) 1:8
‘(b) 1:4
() 3:4
d) 7:8

6 cm ATUR 91 3T 8 em S48 oA Th 3
979 ¥, 6 cm MUR oo 3R 8 em 8 W
Uk IE vF et form S 8 | §9 TR
Je # fiffa fger @1 smafe s S
feraT 2 2

(a) 6m dcm
(b) 8n Ml em
(¢ 10n < cm
(d 60na T cm

T a9 H T R T @ S degei s
% ST TS FE-GU™ AP o AR o1 8, Jal
W T 378, do & Y b qU 8 | Afg S
% YR s B9 50 m, §@H Y FEE 10 m
3t a9 A T S 15 m 7, a1 a9 hl &Ea

(31aw) == Hiew # fohat & 2
(a) 37500m
875007
(b) 5
2650071
(c) 3
(d) 250007




76.

77.

78.

STS-M-TPT

Two rectangular sheets of sizes 2n x 4n and.
m X 5m are available. A hollow right circular
cylinder can be formed by joining a pair of
parallel sides of any sheet. What is the
maximum possible volume of the circular

cylinder that can be formed this way ?

(a) 4nr?

(b) 8n?
(¢) 12572

d) 625n?

In a triangle ABC, the medians AD and BE
intersect at G. A line DF is drawn parallel to
BE such that F is on AC. If AC = 9 em, then
what is CF equal to ?

(a)
(b)
(c)

2:25 ecm
3 cm
4-5 cm

6 cm

(d)

In a triangle PQR, X is a point on PR and Y is
a point on QR such that PR =10cm,
RX=4cm,YR=2cm, QR = 5 ¢cm. Which one

of the following is correct ?
(a) XY is parallel to PQ
(b) PQ=2XY

(c) PX=QY

(d) PQ=3XY

79.

80.

81.

(24-A)

Comnsider the following statements in respect

of three straight lines A, B and C on a plane':

1. If A and C are parallel and B and C are
parallel; then A and B are parallel.

2 If A is perpendicular to C and B is
perpendicular to C; then A and B are
parallel.

3. If the acute angle between A and C is
equal to the acute angle between B and
C; then A and B are parallel.

Which of the above statements are correct ?
(a)
(b).
(c) 1and 3 only
(d)

1,2and 3

1 and 2 only

2 and 3 only

The diagonals of a rhombus are of length
20 cm and 48 cm. What is the length of a side
of the rhombus ?

(a) 13 cm
(b) 26 cm
() 36cm
(d 39cm

An arc of a circle subtends an angle n at the
centre. If the length of the arc is 22 cm, then

what is the radius of the circle ?

(Take &t = 272)

(a) bHcm

(b)  7cm

() 9cm
11 em

(d)




76. 21 x 4n. 3 1 x 5n STHR F &l ATIATHR YT
Iyetey B | fordl) oft oo St T yemeTt % U
S H et U @igal de-aeii sed s
T HhaT B | 9 YR ST ST Fohd AT I
SO R JTIhdH GYd 37T =1 8 2
(a) 4m?

(b) 8n?
(c) 12572
(d) 625n2

77. Wk ByS ABC #, miféeed AD 3R BE, G W
yfdede wdl & | BE % HHGL Uk @l DF 39
wepr @il T 2 R fog B, yom ACWR B | 3
AC=9cm 3, O CF fortieh stet 8 7
(a) 2:25 ecm
(b) 3cm
(¢) . 45em
(d) 6cm

78. TH BYS PQR H, PR W wh fog X 3 QR
W TH fog Y38 IHR &8 B PR = 10 cm,
RX=4cm,YR=2cm,QR=5cm%I
fefaRea 4 @ Sl ad 2 2
(a) XY,PQd% A &

(b) PQ=2XY

(¢ PX=QY

@ PQ=3XY
STS-M-TPT

79. Ueh THAN W o T W@l A, B 3R C &

80.

81.

(25—-A)

Ted #, f=fafga suat w fomm Hifsre

1. 9f¢ A3 C ¥HK & 991 B 3R C HK
& AR BHATR & |

5. ARk A, CRE R R B, CR A A
3 B EHTR B |

3. 3R A3 C% " % =i, B IR C
&+ Eﬁ?{% =IAhIV o S 7; A A 3 B
T & |

Ut # W - wed FE g 2

(a) 1,233

(b) haE 137 2

(c) <hael 13T 3

(d) hae 2 3N 3

@H’Hﬂ@'ﬂﬁﬁiﬁ?ﬂﬁﬁm 20 cm 3R
48 cm B | GHEGYS Y TH ST 6 AR =
g7
(a)
(b)
(¢) 36cm
(d)

13 cm

26 cm
39 cm

T IA h TG Feg W I« Rk T R |
Ffg =19 61 9918 22 em B, 1 g9 H B =@

$7 (=22 ifko)

i

(a) 5cm

(b) T7em

(¢) 9cm
11 cm

(d)




82. One-fifth of the area of a triangle ABC is cut
off by a line DE drawn parallel to BC such
that D is on AB and E is on AC. If
BC = 10 ¢cm, then what is DE equal to ?

(a) +5em

(b) 2+5cm
(0 3+v5cm
(d 4+5cm

83. There are 8 lines in a plane, no two of which
are parallel. What is the maximum number of
points at which they can intersect ?

(a) 15
(b) 21
(e) 28
(d) None of the above

84. A closed polygon has six sides and one of its
angles is 30° greater than each of the other
five equal angles. What is the value of one of
the equal angles ?

(a) B5°
(b) 115°
(c) 150°
(d) 175°
STS-M-TPT

85.

86.

(26-A)

Consider the following statements : -

7 The of the
perpendicular bisectors of the sides of a

point of intersection

triangle may lie outside the triangle.

2. The intersection of the
perpendiculars drawn from the vertices

point of

to the opposite sides of a triangle may lie
on two sides.

Which of the above statements is/are correct ?
(a)
(b) 2 only

() Both1and?2
(d) Neither 1 nor 2

1 only

For the next five (05) items that follow :

In a University there are 1200 students
studying four different subjects, Mathematics,
Statistics, Physics and Chemistry. 20% of the
total studying
Mathematics, one-fourth of the total number
of students are studying Physics, 320 students

number of students are

are studying Statistics and remaining
students are studying Chemistry. Three-fifth
of the total number of students studying
studying
studying

studying

Chemistry are girls. 150 boys are
Mathematics. 60%
Physics are boys. 250 girls are
Statistics.

of students

What is the total number of boys
Statistics and Physics ?

studying

(a) 180
(b) 240
(c) 250
(d) 310



82. Uk BIYA ABC % &5%el &l dr=di faedn,
@l DE gl %Il T 8, @l DE, BC & THI®
39 YhR @iel 75 3 5 D, ABW 3 E, ACW
2 139G BC =10 cm 8, a1 DE fohass st 2 2
(@) +/5cm
®b) 25cm
© 38+5cm
(d 4+5cm

83. U GHad # 8@ &, Ned @ 1S oft & s
¥ wwier 7€ & | forgedt f av aifveam g
11 & o= @ 3 g ot gendt & 2
(a) 15
(b) 21
(¢ 28
(d) STY H @ HIE TE

84, TH §¢ g9 hl B: YU § N IFH TH
I, I e S HIVT T 30° ST B | qUSH
Iv ¥ TRt T I 1 A R 2
(g 55°
(b) 115°
)  150°
d 175°

STS-M-TPT

85. Trafafad et w femm Hifse

86.

(27-A)

1. T Brge & el & o= et @
hreag formg Brys & wmet & wehar @ |

2. Torelt fyst ®, 3o oWl | wg@ yonsti
W el Y Al w1 diieeg fag 39
TIys 61 @ gemeT W B Tehar B |

ST H @ H-HUR weT wE B/ 2

(a) had 1

(b) =Had 2

(¢) 132 gl

(d ar 1,982

ST 377 FTE I (05) I¥AT911 & 70 :

s favafaeme™ § 1200 faeneff &, s =x fim
fowat — wifra, ifesd, wifoes fomm ok wmeE
fogm =1 st = w § | famfiE i g
G W 20% O H T W@ D,
faafshlt ff $a T+ vwEaE difdes
fosm =1 s1eEm W @ B, 320 foEmeff aifewh
T JACRE W R 8 3R Ay freneff wre fasm
F AV W @ 8 | WEH s w1 e
FH et feenfat i Fo T 1 fW wer qig
AW ASfRAT & | 150 ASh TTIOTd hl 7L oht
® 2| ifte Rem @ e w9
foenfoiri &1 60% 3791 @S 8 | 250 TSfRaAT

Hifeaeh) o1 317 @ B |

gifeaeht 3 sifae fomm 1 s1em @ T
TASHI hl Tl TEAT FT 8 2

(a) 180

(b) 240

(c) 250

(d 310




87.

88.

89.

The number of girls studying Statistics is
what percent (approximate) of the total
number of students studying Chemistry ?

(a) 588
(b) 735
(@ 787
(d) 806

In which subjects is the difference between the

number of boys and girls equal ?
(a)
(b)
(c)
(d)

Mathematics and Chemistry
Statistics and Chemistry
Mathematics and Physics

Mathematics and Statistics

What is the difference between the number of
boys studying Mathematics and the number of
girls studying Physics ?

(a) 20
(b) 30
() - 60
(d) 80

90. What is the ratio of the total number of boys to
the total number of girls ?
(a) 67:83
(b) 17:26
(&) 27+:19
(d) 189:179
STS-M-TPT

91.

92.

93,

(28-A)

Frequency density of a class is computed by

the ratio

(a) Class frequency to the class width

(b) Class frequency to total frequency

(¢) Class frequency to total number of

classes

(d)

Cumulative frequency up to that class to
total frequency

A small company pays each of its 5 category
‘C’ workers ¥ 20,000, each of its 3 category ‘B’
workers ¥ 25,000 and a category ‘A’ worker
¥ 65,000, The number of workers earning less

than the mean salary is

(a) 8
b) 5
() 4
d 3

A man travelled 12 km at a speed of 4 km/hr
and further 10 km at a speed of 5 km/hr. What

was his average speed ?

(a) 44 km/hr
(b)  4+5 km/hr
(¢) 50km/hr
(d) 2-5 km/hr




87.

88.

89.

STS-M-TPT

GIEehl T AT A FTet TRl hi wee,
WA fagm &1 19 W a o T
T AT T AT Terd Sfdwa | 2

(a)
(b)
() 787
(d)

588
735

806

for faart # wrgent o1k wefRal i T & s
T A K & ?

(a) TG 3R @A fosme

(b) @ifeash! T e fomm

(¢) Tt ok Wifees fogm

(d) T 7R arfeaeh

TG ST AT L AT ASeh! hl &I HK
ifde fomm &1 srerm w0 9l asfE) &
HEAT o S T 37T T 8 2

(a) 20
(b) 30
() 60
(d) 80

AIEh! h! HoT T HT AS[hA! hl FoI HEaT A
ST AT B ?

(a) 67:83

(b)
() 27:19
(d)

17 : 26

1894 179

91.

92.

93.

(29-A)

forelt @t &1 IReRaT W e U g
aftehiera fopam imar 2 2

(a) = ST %1t Sl =S | I

(b) oA SRSRAT 1 Hohel TRIRAT H AT
(c) o ST T G T Pl T & I

(@ 30 T d% H Gl IRERAT H Gh
ARERAT € STIITT

TH B FH A ¢’ a1 & T 5 HHEE
HI T 20,000, ‘B’ T F TAH 3 HAAMET B
¥ 25,000, I ‘A’ 9 & TH wHIH B
T 65,000 T YA HA & | AET a1 ° HH

FAM I FHATRAT 6T T et § 2
(a) 8
(b) 5
(c) 4
(d) 3

Th AGH 4 km/5eT hl A & 12 km 1 IET
FAT & 3R TR 5 ko/SIeT &Y I & 10 km
AT KT 2 | ST 3 =1 =7 ot 2

(a) 44 km/5IT
(b) 45 km/SeT
(¢) 50 km/Hel
(@ 25 km/seT




94. The pie diagrams on the monthly expenditure
of two families A and B are drawn with radii
of two circles taken in the ratio 16:9 to
compare their expenditures.

Which one of the following is the appropriate

data used for the above mentioned pie

diagrams ?

(a) ¥ 16,000 and ¥ 9,000

(b) < 8,000 and T 4,500

(¢) ¥ 25,600 and ¥ 8,100

(d) ¥ 4,000 and ¥ 3,000

95. Consider the following statements :
Statement I : The value of a random

variable having the highest
frequency is mode.

Statement II :  Mode is unique.

Which one of the following is correct in respect

of the above statements ?

(a) Both Statement I and Statement II are
true and Statement II is the correct
explanation of Statement I

(b) Both Statement I and Statement II are
true but Statement II is not the correct
explanation of Statement I

(¢) Statement I is true but Statement II is
false

(d) Statement I is false but Statement II is
true

96. Which one of the following is not correct ?

The proportion of various items in a pie

diagram is proportional to the

(a) Areas of slices

(b) Angles of slices

(¢) Lengths of the curved arcs of the slices

(d) Perimeters of the slices

STS-M-TPT

97.

98.

99.

100.

(30-A)

The geometric mean of x and y is 6 and the

geometric mean of x, y and z is also 6. Then

the value of z is ¥
(a) 12

®) 6

() 6

@ 6

The total number of live births in a specific
locality during different months of a specific
year was obtained from the office of the Birth
Registrar. This set of data may be called

(a) Primary data -
(b) Secondary data
(¢) Recorded data

(d) Countable data

The heights (in cm) of 5 students are 150, 165,
161, 144 and 155. What are the values of

mean and median (in cm) respectively ?

(a) 165 and 161
(b) 155 and 155
(¢) 160 and 155
(d) 155 and 161

The average height of 22 students of a class is
140 cm and the average height of 28 students
of another class is 152 cm. What is the
average height of students of both the

classes ?

(a) 144:32cm
(b) 145'52 cm
(¢) 146:72 cm
(d) 147-92 cm



94.

95.

96.

STS-M-TPT

@

3l 9REwi, A 3 B % #ifde @ % gund g
T AR 3Tk Gl ! g B b AT 31 T
1 P13 T AT 16 : 9 T@T T |

S aftid geR@El % fore waw e o ud
Afpe, fFfafaa § @ wHE 8 2

(a)
(b)

F 16,000 3T F 9,000
Z 8,000 3 T 4,500
(¢) ¥ 25,600 3 < 8,100

T 4,000 37T T 3,000

ffafaa Hat w fmm Hifs

FY7 1 : fehan IRERAT It ATgfedH =X 1
HH Sgeih (HIS) el § |

Fo7 11 : SEah (Me) g (3r=1) B 2 |

mﬁgmﬁ%mﬁﬁnﬁﬁaﬁﬁ%ﬂqm

e g ?

(a) WU I 3R HeF II A1 @& T, R
WM II, Y 1 %1 UE) ISR |

%97 [ 3N w1 QA |@d §, I0g
HYF II, B [ T el TR 781 8

() U IHE B, g YT 1174 &
(d) HeH 17T 7, T H 1T 8

(b)

frfafas 3 & #9-a1 wd 787 2 2

T gui@ H e og w1 orgum fees
HHTFITC BT ] 2

(a) %M % BTBe!

(b) I & HIT &
(c) TSN o Ik 9T h! TE=AT &

(@) 9 o IRET %

97.

98.

99.

(31 =A)

x 3R y T TUNTR HIET 6 & a9 x, y 3 z &I
TR H1e oft 6 % | A 2 T A o1 B 2

- (a) 12
) V6
() 6
@ Y6

I USiEeh o shEied ¥, Uk fORme 9 &
faftm wd T & W e fafire wom d Shifaa
S (wEEt) ot wEA g i T | 3u
(3TTheT) % T TH=T i 41 Hgl ST Ghal & ?
(a) W(H@)W

(b) T 34T

) ITffoRaa s

(@) TR 3UTH

5 fornfelat it F=mgat (em ®) 150, 165, 161,
144 3R 155 & | Tk wew 3 Ay
(HifsT) & 99 (em §) AN w1 E 2

(a) 16537 161

(b) 155 3T 155
(¢) 1603 155

(d 155 3 161

- |100. T e & 22 faEnfdat i swd S 140 em

2 3R Uh I wam & 28 Tl & sfwq
ST 162 cm @ | Gl sheniall & feenfiat i
3 FHaTg w1 R ?

(a) 14432 cm

(b) 145:52 cm

(¢) 146:72 cm

(d) 147-92 em
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SPACE FOR ROUGH WORK
H hTH & {10 918

STS-M-TPT (34-A)
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T T ATIHT Tg THLI0T Gieaest @i &1 7 FgT 1Y ad 7% 7 &ied

&. &ft. #t. : STS-M-TPT wdterur gitent gwn

TteTuT gierent
TRIETes T

a7 : 3 gue ) gories : 100

AW
Tfen TR E % T 91E, oI 3| gdieror gt ft ugate oty @R o foh gaw wig o o,
T AT LT ZANT Y3 Ferat SeAier, i 7 g | afe [ R, o 39 Wt dieron giwdeht @ wqet ot |
FUAT &9 @ foF OMR svR-u=eh ®, 3Rw v W, e Ty ok wderor giwren (e
®IE) A, B, C a1 D &, &a9 & v fomn fneft oo o fowmfe & s ofik aﬂﬁgﬁm‘mﬁ
Ieflear i & | et oft weer <Y =/ fomrfa <hr fedrfer o sav-weres Foreea o fen oo |
39 Tieor gimn W oHg § 3T T ises § SMueh! 19T
IshATh foreT & | Tliemn gfeemt | ol o 7 ford |
39 wlige giwe § 100 SR (99) fow e ® | vy R it ot Sl A v B | v
TR AR SRR (3R) fu e ¥ | o @ U TR A g o, T 3T Sowe W SifRd e
=Ted § | 3R s U o 5 U | i W @ €, o 3W WegeR i 3ifehd i S vk Heiw
W | T T % o Faer v g Tga TR |
TR 3T Tt e e & Ry g IeR-wE W g SR w1 § | Swwe | fiw e fdw dfa |
T g % o7 GHE B |
T8 TR T 31q vhierr gitrest & fafie geaiel & Iege STuas W Afhd FE1 € &, IUH 799
HOT-9S 5 G1e A e % IER F9 e smwmw H S |
mmwg‘ﬁ@mﬂwﬁnﬁ%quﬁm%wm FaeT IT-UFF AeF I
o g | IR qrer qierer gferest & 9 Rt STt g |
F= % % T T e gicqe & 3id § g™ § |
TS aya-uEt # sefiear grn R T e I % forg que T @ |
() UAH T % U OR dnfus IR ¥ | Suficar g uee I & forw Ry e ww e s F e weA
¥g Ta fh o 3t 1 uw-faed que & w9 # HrRr S |
Gi) IR P Inficar tF A i I [T 7, A T I I T e, Jan Ry s A ¥ e W
g giar B, TR oft 58 w9 & e Swfeigar € 3 g 1 qus fom s |
(i) R sefiear g 1S we ve A R wmen R, avufq IFiER gRT ST @ e S &, @ 36 WA %
fore =g que =& fean smam |

ST 7F HTTHT TF GHLIOT GRAehT @erd &1 T FET AC A7 7% T @l

Note : English version of the instructions is printed on the front cover of this Booklet.
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